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055. Kriti ____ that it was an awesome gifl,
(A : ;
( C)) GX:lalmcd Vil Jteed (B)  exclaimed with surprise
asked
: (D) exclaimed with anger

056. Study the following sentences and identify the correct analysis given below them,
(1) Itis going to rain.
(2)  The Chandrayan-3 is about to land on the Moon,
(A) Both the sentences indicate present,
(B) Both the sentences indicate future.
(C) (1) indicates present and (2) indicates future
D) (@1 indicateg future and (2) indicates present,

being on leave, Prutha completed her task.

(A) Duc:eto ‘ ' (B) Inorderto
(C) Instead of (D) Despite

057.

058. “Please don't break my trust on you?” said Sanvi to Sanjay.
- Choose the correct indirect speech of the above sentence.
(A) Sanvi asked Sanjay to' break her trust on him.
(B) Sanvi requestéd Sanjay not fo break his trust on her.
(C) Sanvi requested Sanjay not to break her trust on him.
(D) Sanvi requested Sanjay that he should break her trust on him.

Turn the following sentence into negative without changing its meaning.

059.
“Everybody admits that Sachin is a legend.”
(A) Everybody doesn't admit that Sachin is a legend.
(B) Everybody denies that Sachin is a legend. '
(C) Nobody admits that Sachin is a legend.
(D) Nobody denies that Sachin is a legend.

060. . Pick the sentence which is different in meaning.

(A) Though Nilay is honesty, he is poor.
(B) Even if Nilay is poor, he is honest.
(C) However poor Nilay is, he is honest.

(D) Nilay is poor but he is honest.

B
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: In case of interpretation of jang!?é "

Considereq ¢ be fin

061, Compaction Factor Test is done for
(A) Clay
(B} Sand
(©) Lime
(D) concrete

062. Specified compressive  strength of
concrete is obtained from cube tests at tﬁe
end of

(A) 3 days
B) 7 days
(©) 21 days
(D) 28 days

063. Admixtures which cause early setting and
hardening of concrete are called

(A) Workability admixtures
(B) Accelerators
© .Retarders

(D) Air entraining agents

064. In slump test, each layer is compacted
by a steel rod 60 cm long and of 16 mm

diameter for
(A) 15 times
(B) 25 times
(C) 35 times
(D) 45 times
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065. Efflorescence in

066.

067.

068.

cement is caused due to
an excess of

(A) Alumina -

(B) Iron oxide

(C) Silica

(D) Alkalis

The removal of excess air after placing

concrete helps in increasing the strength |

of concrete by .
(A) 15t020%
(B) 20to 30%
(C) 30to 50%
(D) 50 to 70%

During field test, the cement is said to be

pure and of good quality when

(A) The colour of cement is uniformly
greenish grey

(B) A handful of cement, thrown into a
bucket of water, floats

(C) Hand is thrusted into a bag of
cement, it feels cool

(D) All of the above

The aggregate is said to be elongated

when ' '

(A) Its least dimension is three-fifth of
its mean dimension .

(B) Iis least dimension is equal to its
mean dimension '

(C) Its length is equal to its mean
dimension

(D) Its lengthis greaterthan 1.8 times its
mean dimension
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071.

© Rotation of horizontal axis

072.

073.

ABC

©) Micro Processor

(D) External drive

When tota] Station s gj

? t
which of the opemtiongh ed to the target,

acts first?
(A) Rotation of optical axis

(B) . Rotation of vertical axis
(D) Rotation of line of collimation

Which of the following indicates the
correct set of the combination of total
station?

(A) Theodolite, compass

(B) Theodolite, EDM

(C) Electronic theodolite, EDM

(D) EDM, GPS

total station can

The data obtained from
the following

be used in which among
software directly?

(A) Primavera

(B) STAAD PRO

© Au'todesk Revit

(D) Surfer .
///[13 ]
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074, Total length of Ahmedabad 074. vingiaie-lda aseldl g4 oy

Expressway is )

(4) 109km (A) 109 uq
(B 1o o o (B) 154 e
(C) 137km _ ' (©) 137 ua
(D) 17649 D) 176 ua

075. Which of the following is the first city. 075. <l fl  su 9dW uwMaR..

: full
under nsJNURMl t(‘)B}ll{a:I",eS s:xec;iss y VUeBldypRAM  (JINNURM)  dsa
launched a comp gte ystem? Ayl oflwr 2 Rreudl  Usadryds
URW
) e SR 2
(A) eliug

(B) Ahmedabad
(B) Meldle
(C) Vijaywada : '
(©) [ovyast

(D) Indore D) SR

076. The total length of the Ahmedabad Metro | 076. iHeldlE AR Uloyseell UUH coissiedl

Rail Project Phase-I is about 5 dousS 2UR Jedl 87?
(A) 33.65km (A). 33.65 B4l
(B) 40.03 km : (B) 40.03 A
(C) 18.87km ; (©) 18.87 .l
(D) 21.16 km ' @) 21.16 .l

077, laR AP W A g 87

a) o s gl Rren

077. What is the full form of BRTS?

(A) Bus Rapid Transit System

) i ¢ 2194 Riren
(B) Bus Rapid Travel System % (B) ¢ s 2

- ls 2-usR R
(C) Bus Rapid Transfer System = ©) ™ 4

() o lls geandlus Rreu

ABC:B | [14]
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O78. Mumpy; A
Misy mnh:);:i:bad High Speed Rail
o ough tota] distance of
(A) 510 km

(B) 600 km
©) 750 km
(D)' 800 km

079, A
The rate of hydration anq hydrolysis of

Cement depends upon its
(A) Soundness

(B) Fineness

(C) Setting time

(D) - Compressive strength

080. The expansion in Portland cement can be

tested by

(A) -'Finreness test

(B) Soundness test

(C) Setting time test

(D) Normal consistency test

081. The hardness of Bitumen is determined

from

(A) Penetration Test
(B) Ductility Test
© Fiash and fire test

(D) Softening point test

ey Y

ABC:B]

2{ls W ﬂﬁmﬂ 4

o8, 440 2"%@6 -
AR _—
) 510 gLl

@) 60 .l

©) 750 4.4l

) 800 .4,

079, Rleael ke 2 iRkl &
Aell W 2AER Al 87
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(A) YeHdl 222
(B) UG 2
(©) A1 2 22
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(D) AP Wier 322
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082. For how long js the needle allowed

to penetrate the penetration test of
bllll]nen?

A 10 Minutes
(B) s Minuteg
© 10 seconds
D) s seconds

083. The lining of Cistern is normally done by
(A) Lead
(B) Rubber
(C) Asbestos
D) ﬁbrg glass

084. Bull nose brick is not used in the following
works.

(A) Rounding of sharp corners
(B) Pillars

(C) Decoration purpose

(D) Arches

08S. Bitumen paint provides
(A) Pleasant surface
(B) Hard surface
(C) Smooth sm'faée
(D) Protective surface

086. A piezométer tube is used to measure
which of the followings?

(A) Low pressure
(B) High pressure
(C) Medium pressure

(D) Vacuum pressure

ool Al Jea

082. [iydaer URQUA ol 3 97

e el ysa A 81
(A) 10 Ffa2
(B) 5 [fqe
(C) 10 As$
(D) 5 Ases

083, Rizeeld] crgfior upted d 131 ara
SR 21 87 -
(a) s
(B) WR
(©) ek
(D) sieR Al

084. odt «llyy ol Gudlal Al s
SAL A 2iadl «l?
(A) dlagr vigusild dlusk eielqqi
(B) uieal
(©) Ydlieid &4
(D) sl

085. (12 U2 g uei R 7
. (A) leegius aiua'l .
(B) uid yuid
© dRil
(D) &UeHs yy )

086. Ultlflx 2yoidl Gurla Rigll
HIYAL {2 Yy 97

(A) il goug
(B) GA goygl
(C) HeMH oyl

(D) dsyH gouyl
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087.

088.

089.

090.

091.

When the pressure intensity at a point is
more than the local atmospheric pressure
then the difference of these two pressure

is called

(A) Negative gauge pressure
(B) Absolute pressure

(C) Positive gauge pressure

(D) Vacuum pressure

What is the ratio of inertial force to .

viscous force called?
(A) Faber number

(B) Match number
© -Reynolds number
(D) ‘None of the above

The occurrence of flow under Gravity
through a circular pipe is the case of

(A) Channel flow

(B) Pipe ﬂow‘

(C) Tube flow

(D) Orifice flow

Which of the following is the notch angle
for maximum discharge on 2 triangular

notch?
(A) 30°

(B) 60°
(C) 90°

(D) 120°

Name the roof which has slopes in four
directions.

(A) Sloping roof

(B) Hip roof

(C) Gable roof

(D) Shade roof
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qutaRQlld €619l Sl aY €y cuR 21 A
couRledl cstdda g sdami 213 97

(A) asRICHS oy E6QL
(B) WeRiley2 ekl
(C) €sRIcHS 0¥ €U

(D) As4H EASL

orscll il 2 R ol Apilera &
5887

(A) FoR R~

(B) A AR

©) et 4R

(D) Gl 518 A

JlasR WML opecaisf|l s e
adaiedl a2l g sda 87

(A) Add NUE

(B) WEW UL

(C) 2ol U

@) »lREA nue

vl s A Ao grl Bsigi
12 W HerH [Geue’ wd 97

(A) 30° '

(B) 60°

(€) 90°

(D) 120°

AR i zraion SRl «AH il
(A) 3adLY Y |

®) Ru 3

(©) dod 3

(D) o 35
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092. A
°0d prodyceq by laying alternate

sip Wholly composed of headers Of
Ctchers, jg P

(A) Stretcher header bond
(B) Header stretcher bond
(©) English bong

(D) Flemish bond

093. - '
3. A projects stone which is usually

o

095. Parapet wall is p

[18

provided to serve as a support for trusses
and beams is known as

(A) Lintel .7
,’

(}wm

“(C) Corbel

(D) Cornice

094. An arrangement for supporting an unsafe

structure temporally is known as
(A) Jacidng

(B) Shoring

(C) Underpinning

(D) Lifting

rotected from rainwater
by

(A) Brick copings

(B) Brick sills

(C) Brick corbels

(D) Brick lintels

ABC:B |

092, qrudl wiysfud &

093.

@ il R

SRl ydld Geuet Yl ollesl S4L i

wlavani 219 87
(A) B R olies
(B) d w3 olleS
(©) oo olles
D) AR oli<s

pued 4 23 24 ofln

Yloyse 22 o Y ,
2 YRU ISR

i Al ol A wual W
wd 8 d sl d;ﬂ il 87

) 24 (Lintel)
@) R (sill)

(C) $lola (Corbel)

‘ (D) sid[ (Cornice)

094.

095.

wizaapel] 30 2B Wi 251 wrucliel
AR sl < oo 97

(A) o%'fal
B) AR
(€) w2

D) @k

Rledl i ddt grt arauel wwelldl
YL 8 87

(A) aldl sivlo

B) el e

- (C) Hedl slolex

I

(D) el [ar2ex

[ Contd...



096. Joints between stone blocks are very thin
and uniform in stone masonry of type

(A) Ashlar masonry
(B) Rubble masonry
(©) Flint

(D) Polygonal masonry

097. External vertical member of a Paneled
door is called

(A) Lock rail
(B) Sash
(C) Style
(D) sill

098. Which of ‘the following brick bond is
required for pavement?

(A) Facing
(B) Dutch,
(C) Raking
(D) Herringbone

099. Blistering is the term associated with
(A) Pointing
(B) Plastering
(C) Paintings
(D) Dressing

100. Carving cannot be done easily on
(A) Marble stone
(B) Lime stone
(C) Granite stone

(D) Sand stone

ABC:B|

faanidl 54 sl W Al
" plsdld YR 2 WAL b5 AR
aifal vt o WAt du 8.

(A) PR Aaqdl
B) ¥4 Aaadl

©) B2
D) ol Rl

l
097, el UM onel Glett Qsm
yedld g sdami 214 87

(a) dls @
(B) A
(€) 184
(D) Al

098, s2uw Wi B2l s olles o3 87
(A) FER
(B) A
© W
D) SRaeld

099. [GaadbL 3 S\l A Asadlall woe 87
(A) WP
B) wrAb
(©) W
D) 3R

100. D3eimisll il W wacell siasm s\
asid, «l?

(A) Hold 224
(B) Al 22l
(€) A2 X2
(D) Aes 22

(19}
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102,

103,

104.

105.

id
. ;d_ Underneath the
(A i knowy, asltho‘" disturbing its
) Undepp,
®
SCaﬁ‘o .
© ing
Shoﬁng

(D) Ja cking

The pitc
h N
(A) 600 of stairs should not exceed

(B) 500
©) 30°
(D) 40e

Angle of inclination of lacing bar as per
1S:800-2007 is between degree.

(A) 20-30
(B) 30-40
(©) 40-70
(D) 70-90

The horizontal members of wood or steel

“used to support the common rafter ofa

sloping roof are called
(A) Purlins

(B) Cleats

(C) Hip rafters

(D) Valley rafters

For making lightweight concrete the gas
Bubbles are created by adding

(A) Aluminum powder to the slurry
(B) Air Bubbles to the slurry

(C) Water bubbles to the slurry

(D) Zinc powder to the slurry

101,

102,

103.

104.

e wairdl @R i
(@1 Al 12 WL gt
sl i wilovitd 8

(A) weRUl!

(B) wdvis

© AR

(D) a1

0l i o ol 484 el o,
(A) 20°

(B) 25°

© 30°

(D) 40°

olles wpy Slaw W2, 15:800-2007 orol
ARL elrel vl [all AL
2 8.

(A) 20-30

(B) 30-40

(C) 40-70

(D) 70-90

210l Sl A= A2 251 2N
WS UL LSS AUl el 281 A

g sdami 214 87
(A) uld-

(B) Baxlu
(©) [y ugd

() adl gl

105.

/_4___/_—’_\
ABC:B ] [20]

agedse silE2 oielladl Hi2 Gadld
Jlaaell WRUI2L Glettadii 21d §

(A) il Ayfilaun war
(B) i ealdl wl2L

(©) i wellt w2t
@) i o5 waR
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v Co
@ > o d)
92 san!
) Coarse sand (B) i(ﬂ- e
© Medium sand © um“i {| (Fin® e
®) Fine sang ® e ol 9 saflolet
e ouiell 5
gl[x,aul 9
Na Separation of coarse aggregate from .| 107- uﬁqisql'ﬂ et 3
Concrete during the transportation, is il o
’ odld
(A) Bleeding | * 2
(B) Creeping ® ¢ a4
c) WP
(©) Segregation , (

u flé,'l
: sl 2su8l
(D) None of the above D) o

' ing of
. i w1 (Bulking
108. Bulking of sand is 106, daanl ey
sand) 88

(A) Mixing of different sizes of sand 4 @ [@4 sedl 3@[\& Fmael

. . 3.
particles . A) )
4 B
(B) Mixing of lime with sand @) 2l Ylld il
(C) Maximum water with sand | ©) ad ‘lé.ﬂ"lrﬂ e
(D) Swelling of sand when wetted (D) ofldl 24t W Adld &

' ‘ -aq 2lks el
109. As per IRC, carriageway width for two- | 109. g aR A Yorer o &

lane traffic road should be i Ror-4 ol ulous Jeell Al oad
(A) 7.5m _ &) 7.54

(B) 125m : ®) 125

©) 15m © 154

(D) 10m D) 104l

110. A road sign indicating ‘No Parking’is | 110, el W ‘Al Wi’ gafaq Ris, st uyiel
N (adld 87
(A) Warning sign
(A) Aaagll Fadl
B) Prohibitory sign - '
( | B) [eucns Maued]
©) Rvud [

(D) Ml wiryqd) (el

(C) Mandatory sign

(D) Informatory sign «

ABC:B] [21] TN



1. If R is the ragiys of curvature O ® hill | 111, o4 ‘R’ utdl wolell asctiell Blovu dly, )
ra .
road, the maxi: o :al::lc compensation e s aqdr (2s1arlHi) et oy
3 um g

(in percentage) js equal to QU e ?
(A) 65R (A) 65R
(B) 75R - (B) 75R
(©) 85R (€) 85R
(D) 95R (D) 95/R

112, Which of the following IRC loading for dlee Qi dlléol w2 A4sidl 8 re
vehicle live loading is having maximum dlf$or yaell Koptet HS HETH cllea allg
live load for design of bridges? 4l 87

112.

" (A) Class A loading @A) s A dadbl
(B) Class AA loading (B) sdI AA @i
(C) Class 70R loading - {(C) s 70R AL
(D) Class SV loading (D) sa SV b

. 113. In side drains, the freeboard should be at | 113. 9122l »ig2, $loll§ il »ilg 324 €l

least ofef ?
W bl Eentntios Ay s adldl 25 200, 44
(B) 25 cm high the road surface g
, r  (B) ussell uwidlell 25 A4l Gy
(C) 25 cm high from the sub-soil water :
level ' (©) 6] oynell 2eiell 25 AL, Gl
(D) l50 clm below from the sub-soil w‘ater D) “ﬁ’l@{ ovanell 24l 50 A, 2
eve

114. The circular isolated depression formed | 114. $dABReld A¢ YAe2 W Rl QdUIBR

on flexible Road payment is known as WGAAS (Ao 541 A vilaviami
wd § ? :
(A) Ruts :
(A) 3
(B) Pot holes
(B) iIsIxll
(C) Frost heaving ' © sk b
(D) Map tracking D) A 36
[ Contd...
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115. A culvert has a span generally less than 115. %4 (Culvert) o Tl

Uy
Yol 20\ Al oyt A
(A) 8m ..
(B) 9m
(B) 9m
(C) 6m (C) 6m
(D) 10m ®) 10m

116. A drainage structure provided to pass the | 116, «d »tadl «téld] {3 sl Bl qu

natural stream under the canal or river- :LuRfR:l ol Qe YR Al {3 yf wl
without changing its original bad leve] ig » YL 2119l }ﬂw i‘&ﬁRQ S Q)
ko 2laviaHi 209 87

(A) Aqueduct (A) vlsdss2

(B) Viaduct (B) dRss

(C) Causeway (©) slad

(D) Subway . (D) e

117. The walls constructed on both sides of the | 117. gl 2q| Yaell 21 H1ley Geriq
abutment to retain the earth banks of the ool Avial WS Hopder (Abutment) <1
river or the bridge approaches are called |  ojq ooyl olitami 203d] kadld g

séari 214 § ?

@A) Ll dig
(B) 62 dldg
(€) [l
(D) s dla

(A) Retaining wall
(B) Breast wall
(C) Wing wall

(D) Curtain wall

118. When the depth of water in a river is | 118. s aglai wwlldl Glsi 20 Wl }

20 m or more, then the most suxtable type ddll ay Qu R Aell Wx UsRell Yl
of foundation is Aeiel] 541 S ?
(A) Spread putting (A) SR ™
(B) Well Foundation (B) 44 516
(C) Caisson foundation (C) Yeud 51632
(D) Pile foundation (D) WA 516
[P.T.O.
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T

119 In
Wk ... °

‘ Tl
beaﬁngs ar:ges.’ shallow or fixed plate | 119,
Sultable for spans up to

A) 121

- B) 134, 20m

(D) Legg than |

120.

span foHOW.
8 i is most
Preferable? type of girder is mos

(B) Plate Girder ‘
(C). Gantry Girder

(D) All Ofthe AbOVc

121. In the erection of an arch bridge | 12I.

- superstructure, the most imponaht step is
the construction of '

(A) Pier
(B) Spandrel
(C) Centering
(D) voussoir
122. The hydrologic flood routing methods are
basically
(A) Energy equation
(B) Continuity equation

© Momentum equation

(D) All the above

ABC:B] [24]

F()r ' )
Stee] Girder Bridges of 15 m | 120,

122.

s 42 AR __—

yaui gl i)
ﬁ‘ﬂ.dl auat w2 vidy

&) 124
®) 121020 .
©) 20 ¥l Rl a4

@) 54 sl ¥l

e
15 Hlezdl cuauel 24 afk [?i:z e
il sat wsiRel afk A

e 97

a) R 1R
®) a2 a&k
(©) el AR
(D) G il

i1 (sHiel) Yaell YURSRA [l
Aell secayel wig £ 87

(a) kR

®) R

(©) =R

(D) dlilER (voussoir)

asQdlrs R UGBl uslawil
izl g g 87

(A) Glod alsre
(B) Aldcd w151
(©) Hileu wHlszl

(D) GWRlscl A
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123,

124,

125.

126.

BRI
[25]

The most optimum s,

Canalis ape for the lined

(A) Parabolic shape
(B) 'Tn'angular Shape

(C) Rectangular shape .

(D) Trapezoidal shape

?he presence of calcium and magnesium
chloride in water causes

(A) Softening
(B) Bad test
(C) Hardness

(D) Turbidity

The maximum permissible temperatuie
for domestic supply is '

(A) 5°Cto 10°C
(B) 10°C o 15°C
(©) 15°C1020°C

(D) 20°C to 25°C

The range for Baylis turbidimeter is

(A) 0-2ppm
(B) 0-50ppm
(C) 0-100ppm

D) 0- 500 ppm

ABC:B]

123.

124.

125.

126.

62, YR8l W2 welld He;,ﬂll z»lga[aut_a
arel <{deiel 587

@) s 4. d10° A '

®) 10°3. dl 15° A

© 15° 020° A,

(D) 20° ¢l 25° A,

Qubii 202l 2oy lRAdinid] sul
[sey yoverd 8.

(A) 0 -2
B) 0 - 50 {ll2An

(€) 0-100 ll=tn

(D) 0 - 500 YIylAx

[P.T.O.




B e

127. The woqe,

Mmaj .
the follov,i * should.be designed for

©) 2259,
D) 2509

128. The effective size of sand particles for

Tapid sand filter varies from
(A) 03010 0.135 mm
(B) 0.35t00.50 mm

(C) 0.50t00.65 mm

(D) 0.65 t0 0.75 mm

The inlet with a basin that allows grit,
sand, or debris to settle out and thereby
preventing it from entering the sewer is

129.

known as

(A) Manhole

(B) Street inlet

(C) Catch basin

(D) Inspection chamber

The circular section of a sewer is best
suitable when the diameter is up to

130.

(A) 0.75m
(B) 1.25m
©) 15m

(D) 3m

GYld
127, e s wglil orsf
Yo agtardl el W

Qi sell A7
(A) 100 %
(B) 150 %
(©) 225 %
(D) 250 %

128, g e fezz W2 Al $0ild PIRRIRS

5& «{lAdwidl 56 iffmi u8?
(A) 030 ol 0.35 1l

®). 0.35 1 0.50 L.l

(©) 0.50 1 0.65 ¥l

(D) 0.65 4l 0.75 Hll

129. Al el $4d2 @ sudl, Al 22
sewad 22l 2al £ 8 i dd 223l
udecl 242519 8, dd su1 U 2oL

24 §?

(A) Al

B) ¥ Sad2
(©) 3 AR

@) Fdaa AoR

130 22l MUK MUSR ¥ el ey
Rl sui Yellel € dl, A i) G
s 58l 43? -

(A) 0.75m

(B) 1.25m
(C) 1.5m
(D) 3m

ABC:B |
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131. pH value of fresh water sewage ;
expected to be :

A1
B) 35
© 7

(D) 8to1l

The bending moment on a section ig
maximum where shear force is

132.

(A) Zero
(B) Minimum
(C) Maximum

(D) Positive

133. When a cantilever beam is loaded with

concentrated loads at free end, the
bending moment diagram will be

(A) Horizontal straight line
(B) Vertical straight line
(C) Inclined straight line

(D) Parabolic curve

Bernoulli’s theorem deals with the

131, dion a2l WRlld M@y oy
Mg asmr o

@A) 1
®) 3.5
© 17
) sdl 11

132. o Asetel WR AP M2 Ny B ey
@R o 34 €lg oSl ?

N
(B) - Yeic¥
(C) HeuH

(D) Wkla

133. ok 3dll@r ofludi Y B W
Yezaeir @usari 2ida g R ol

We2edl ligla R4l 3dl ¢d?
=
|\

(A) 0l el u
@) Glefl el vu
(©) awcll Al v

D) Wiellas aais

134, oiellefldl uAA AAQLAL S Rugid 1

it aiiet soific 87
(A) Energy (A) Qod
(B) Momentum (B) 2
(C) Mass (C) oredll
(D) Force (D) “4
PN . - ey
ABC:B | [27] [PTO.



qa R e

135. A flow through a long pipe at a constant 135. djol gunidl 2t

s & L u '
rate is called eatiell 541 HALE s 87
(A) Steady uniform flo ’ '

w
)
| (A) @ uid 4
(B) Steady non-uniform flow (B) @R UL yale
(C) Unsteady uniform flow ' ©) wRRR s YHld uae
(D) Unsteady non-uniform flow (D) »iRR AUl HAUE
of] 2iles] <t €l

136. The strength of a building stone should | 136, SRl uearell 34 &t
not be less than o ? ‘
(A) 50 N/mm? (A) 50 N/mm?

(B) 100 N/mm? B) 100 N/mm?

(C) 500 N/mm? (C) 500 N/mm?

(D) 1000 N/mm? (D) 1000 N/mm?

137. A slump test for concrete is carried outto | 137, silse |2 ¥ 224l 9 sl Al wid

determine 97?

(A) Strength (A) ¥4

(B) Durability (B) 2516uY
© Eel]

(C) Workability
(D) Water content @) welld wut

2Rl WEdes Rifleeedl s165qa AlE2

138. The final setting time of Ordinary | 138.
Portland Cement is 2154 Jedl €lu 97
(A) 30 minutes | (A) 30 Rl
B) 600 fl42

(B) 600 minutes
() 90 (42

(C) 90 minutes
@) 120 Bl

(D) 120 minutes
J/
[28] [ Contd...
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139. A relatively fix point of known elevation
above datum, is called

(A) Benchmark
(B) Reduced level
(C) Datum point

(D) Reference point

140. The line of collimation method of
reduction of levels, does not provide a
check on

(A) Intermediate sights
(B) Fore sight
(C) Back sight

(D) Reduced levels

' 141. A clinometer is used for measuring
(A) Angle of slope
(B) Correcting line of collimation
(C) Setting out right angles

(D) Defining natural features

142. Some distance kept between road line and

a plinth of building parallel to road line is
known as,

(A) Setback
(B) Safety line
(C) Building line

(D) Sight back

Wl gr el ﬂ(étﬁuml Hiua
139. iazu@ asfl Rl WS g sdawi wy

87

(a) Aol
@) A dad
©) R4 w2
@) w2

140, s 2l AR Rugdl ueel] uaq
Aoy Al MRl 2wl wadl
adl.

(a) Sz w2
(B) &R WL

(€) O w2

@) Asyug Qaa

141, QAdriiell sclldidlez Guadlol e WS ay
87

(A) 319+l Rl Hival
(B) i g sildaq yara
(C) 5125190 Yllbra sa

(D) &edl Wy eafaqn

142, sl Vel ALl AHIAR SHRAAL
(e 923 uiaimi 2094 vidre 58 A
wloug i 214 87

(A) A2 65
“(B) uamdl diS
©) (el ae
(D) we ols

-

ABC:B|
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ofl 58 o AW

143, Tpe ' oy JAd
> The preferapye aspect for living F00M i | 343 (o) Fa H2 A4t y
@) North-weg 91 M‘/\( i
®B) Southwee, (A) G- P o
Outh-West ' >
' -yl
© Wy ®) et
‘ C) vl
(D) East & g
(D) K

il s

144. Wh; i
ich of the following roofs are preferred | 144, @3 qrlE~ll @RIl ol 37
i21d 97

in areas of heavy rainfall 8914t (roof) a4 et NRERARK
- (A) Pitched roof (A)'alﬂl;ll“ﬂ 9d

(B) Flat roof (B wwR od

(C) Terraced roof | ©) wpurflall v

(D) Curved roofs (D) 45 8d (Curved roofs)

145. For which one of the following maps, the | 145, <fl3miell st «isat w2, StRl4 Qe

scale of 1 cm = 0.5 km can not be used Mael  (Indian Standards) iqAR
13 = 0.5 Gll.ett 3yl Guulr 51

as per the recommendations of Indian

Standards? st «¢f]? o
(A) Site plan (A) e wd

(B) Key plan | (Bj sl wiq

(C) Topographic plan © aiulw&s Wi

(D) Villagemap (D) 2U3ell «As2ll

146. The minimum width of a habitable room | 146. lld1 el ~yerin s Yol Gl

should be oA ?
(A) 22m (A) 2.2 4l
‘(B) 2.5m . B) 2.5 4L
(C) 24m © 244
(D) 2.75m (D) 2.75 4.

ABC:B ] [30] [ Contd...



147. For ensuring quality of concret Al
use |y glfiedl A YRRA R W 3q
el 9220l GUHL 524 oy 7

(A) single sized aggregates
() P o Wl ERb(ETEE

(B) Dual sized aggregate

Bl
(C) graded aggregates (@) A
©) qa[[éd. ﬁaﬂ:"l{%{
(D) Large aggregates
@) Wt 2R

148. The mixture of different ingredients of | 148, Rifl-2etl (434 25\l Fragi suL i

cement, is burnt at " quiaaii 214 87 ?
(A) 1000°C (A) 1000°C
(B) 1200°C @ e |
(C) 1400°C (©) 1400°C
D) 1600°C (D) 1600°C

149. Vicat’s apparatus is used for 149, Riteel s wdawt W2 [@se A
Al AR S 7

(A) Fineness test *
. (A) s 22

- (B) Consistency test _
' - @) seallkel 22

~ (C) Workability test* © A %2
(D) Soundness test ¢ ' ) - 22

PafBleadl st udag w2 dlA Vore

150. Log Angles machine is used to test the | 150.
- ygfladl GuaL A 8 ?

aggregate for

(A) Crushing strength (A) 5ol 23

®B) SWls2 Ay

- (B) Impact value

(C) Abrasion resistance (€) Adad Wk

(D) Attrition value D) lud 4y

ABC:B] (31] . (PTO.



